
Hanover Outdoor Furniture 

IMPORTANT 
If you have any problems with this product (missing or damaged parts, assembly issues, etc.), 

PLEASE DO NOT RETURN TO THE RETAILER/STORE
from where you purchased the product.   

Please call our Toll‐Free Customer Service Hotline at: 1‐866‐851‐8438
Between 9:00 AM and 5:00 PM Eastern Time, Monday through Friday 

Or visit our website at:   www.hanover‐products.com

To expedite any future warranty claims, please retain the Instruction Sheet, Warranty 
Card and receipt for future use. 

For  additional on‐line support on assembly, troubleshooting and care & maintenance of your outdoor 
furniture, please visit our website at:    www.hanover‐products.com. 

6/1/2015 (b) 



Between 9 A.M. - 5 P.M. Eastern Time, Monday through Friday

High Dining Table

Owner's Manual

Page 1of 7

If you have any problems with this product, DO NOT RETURN IT TO THE STORE

CALL OUR CUSTOMER SERVICE HOT-LINE AT

1-866-851-8438



Page 2 of 7



Page 3 of 7



Page 4 of 7



PART# DESCRIPTION PICTURE QTY

A Table top 1

B Table leg 4

C Support Tube 8

D Connector 1

AA M6 x15mm 4

BB Bolt M6 x18mm 16

CC Bolt M6 x 35mm 16

DD Washer 36

EE Bolt Cover 36

FF Wrench 1

Page 5 of 7

PARTS LIST



Assembly Steps:

Note: Do not fully tighten bolts until assembly is completed and alignment is correct.

Step 1. Assemble the connector (D) to the table leg (B) with bolts (AA) and washer (DD) 

            as shown in figure 1.

Figure 1

Step 2. Carefully place the table top (A) upside down on a non-abrasive surface.

Step 3. Assemble the table legs (B) to the table top (A) with bolts (BB) and washer (DD)

            as shown in figure 2.

Page 6 of 7

Figure 2



Step 4. Loosely attach the support tube (C) to the table leg (B) and table top (A) with

             bolts (CC) and washer (DD) as shown in figure 3.

Step 5. Check the alignment and adjust if necessary. Once the alignment is correct, tighten 

            all bolts with wrench (FF) . Cover all bolts with bolt caps(EE).

Figure 3

Step 6. Verify all bolts are securely tightened before use and turn your table right side up. 

             Your table is now ready to use. (Figure 4).

Figure 4

Page 7 of 7



High Dining Swivel Chair

Owner's Manual

If you have any problems with this product, DO NOT RETURN IT TO THE STORE

CALL OUR CUSTOMER SERVICE HOT-LINE AT

1-866-851-8438

Between 9 A.M. - 5 P.M. Eastern Time, Monday through Friday

Page 1 of 7



Page 3 of 7



Page 4 of 7



PART# DESCRIPTION PICTURE QTY

A Chair Frame 1

B T Rocker 1

C Base 1

D Steel Panel 2

AA Bolt M8 x 45mm 4

BB M8 Washer 8

CC M8 Spring Gasket 4

DD M8 Nut 4

EE M8 Bolt Cover 4

FF
Bolt Cover For M8

Nut
4

GG Open Wrench 1

PARTS LIST

Page 5 of 7



Assembly Steps:

Note: Do not fully tighten bolts until assembly is completed and alignment is correct.

Step 1. Carefully place the chair frame (A) upside down on a non-abrasive surface.

Assemble the T rocker(B) to the chair frame(A) with steel panel(D) and Bolts(AA) and 

Washer(BB) and M8 Spring gasket (CC) and M8 Nut(DD) by using open wrench(GG),

 then cover the bolts with bolt covers (EE and FF) as shown in Figure 1.

Figure 1

Step 2. Place the chair frame (A) into the base( C ) as shown in Figure 2 .

Figure 2

Page 6 of 7



Step 3. Your chair is now ready to use. (Figure 3).

             

Figure 3

Page 7 of 7


	HANFRB Cover
	STRATHMERE6PC-Manual.pdf
	Almo 2356 Strathmere 6pc seating set-coffee table
	页 1
	页 2
	页 3
	页 4

	Almo 2356 Strathmere Loveseat.pdf
	页 1
	页 2
	页 3


	bar height table-english version 2017 12 1.pdf
	空白页面
	空白页面

	Swivel motion bar chair IM -English version 2017.12.1.pdf
	空白页面

	Square dining table IM-English version 2017.12.1.pdf
	空白页面

	Swivel dining chair IM -English version 2017.12.1 (1).pdf
	空白页面

	Rectangle dining table-English version 2017 12 1.pdf
	空白页面

	Swivel dining chair IM -English version 2017.12.1 (1).pdf
	空白页面

	Square dining table IM-English version 2017.12.1.pdf
	空白页面

	ADP3A96.tmp
	For a period of one (1) year after purchase, the Manufacturer will either repair or replace defective components in accordance
	Regular Maintenance
	How to Clean & Care for Teak Furnishings
	How to Clean Woven Furnishings
	How to Clean Fabric
	-How to Clean Mesh
	How to Clean Strap
	How to Clean Vinyl Strap
	How to Clean & Care for Stone and Marble Tops
	DD




